

Numerically Modeling Solve by Homotopy Perturbation Method

Anmole Razzaq (Author)

National College of Business Administration & Economics

Abstract

In this paper, we used the homotopy perturbation method (HPM) to obtain a different approximate solutions of the Cauchy problem using in one dimensional nonlinear thermoelasticity. The comparison of the numerical solutions obtained by HPM with the exact solution shows the efficiency of the method of HPM.

Keywords: Homotopy perturbation method, Cauchy problem, nonlinear thermoelasticity, analytical approximate solution.

DOI: 10.7176/MTM/9-4-03

Publication date: April 30th 2019.

1. Introduction

HPM does not require a small parameter in some equation and takes the full useful of the traditional perturbation methods and the homotopy problems. This problem is related a real life problem. Let consider the following nonlinear equation

$$v_t - a(v_x, \mu)v_{xx} + b(v_x, \mu)\mu_x = f(x, t) \quad \dots\dots\dots (1.1)$$

$$c(v_x, \mu)\mu_t + b(v_x, \mu)v_{xt} - d(\mu)\mu_{xx} = g(x, t) \quad \dots\dots\dots .. (1.2)$$

And given initial condition of

$$v(x, 0) = v^0(x), v_t(x, 0) = v^1(x), \mu(x, 0) = \mu^0(x) \quad \dots\dots\dots . (1.3)$$

Where,

$V(x,t)$ is the anybody displacement who is the condition of equilibrium

$\mu(x,t)$ is the difference of body temperature who is include $T_0 = 0$

a, b, c and subscripts denote partial derivative are given smooth function.

1.1 Implementation of HPM to problem:

Now we define a, b, c, d, v^0, v^1 and μ^0

$$a(v_x, \mu) = 2 - v_x\mu, b(v_x, \mu) = 2 + v_x\mu, c(v_x, \mu) = 1, d(v_x, \mu) = \mu \quad \dots\dots\dots (1.4)$$

$$v^0(x) = \frac{1}{1+x^2}, v^1(x) = 0, \mu^0(x) = \frac{1}{1+x^2} \quad \dots\dots\dots (1.5)$$

And interchangin the R-H-S of equation (1) and (2) gives

$$f(x, t) = \frac{2}{1+x^2} - \frac{2(1+t^2)(3x^2-1)}{(1+x^2)^3} a(w, u) - \frac{2x(1+t)}{(1+x^2)^2} b(w, u) \quad \dots\dots\dots (1.6)$$

$$g(x, t) = \frac{2}{1+x^2} c(w, u) - \frac{4xt}{(1+x^2)^2} b(w, u) - \frac{2(1+t^2)(3x^2-1)}{(1+x^2)^3} d(w, u) \quad \dots\dots\dots (1.7)$$

Where a, b, c and d are defined in equation (4) so

$$w = w(x, t) = -\frac{2x(1+t^2)}{(1+x^2)^2}, u = u(x, t) = \frac{(1+t)}{(1+x^2)} \dots\dots\dots (1.8)$$

The exact solution of equation (1) & (2)

$$v(x, t) = \frac{(1+t^2)}{(1+x^2)}, \mu(x, t) = \frac{(1+t)}{(1+x^2)} \dots\dots\dots (1.9)$$

If we put equation (4) into Equation (1) & (2), so we get

$$v_t - (2 - v_x\mu)v_{xx} + (2 + v_x\mu)\mu_x - f(x, t) = 0 \dots\dots\dots (1.10)$$

$$\mu_t + (2 + v_x\mu)v_{xt} - \mu\mu_{xx} - g(x, t) = 0 \dots\dots\dots (1.11)$$

And now

$$v_t - 2v_{xx} + v_xv_{xx}\mu + 2\mu_x + v_x\mu_x\mu = f(x, t) = 0 \dots\dots\dots (1.12)$$

$$\mu_t + 2v_{xt} + v_xv_{xt}\mu - \mu\mu_{xx} - g(x, t) = 0 \dots\dots\dots (1.13)$$

And now we define the following different homotopies

$$v_t + r\{-2v_{xx} + v_xv_{xx}\mu + 2\mu_x + v_x\mu_x\mu = f(x, t)\} = 0 \dots\dots\dots (1.14)$$

$$\mu_t + r\{2v_{xt} + v_xv_{xt}\mu - \mu\mu_{xx} - g(x, t)\} = 0 \dots\dots\dots (1.15)$$

Assume the solution of equation (14) & (15), we get

$$v = v_0 + rv_1 + r^2v_2 + r^3v_3 \dots\dots\dots (1.16)$$

$$\mu = \mu_0 + r\mu_1 + r^2\mu_2 + r^3\mu_3 \dots\dots\dots (1.17)$$

Substituting equation 16 & 17 into equation 14 & 15 and equating the coefficients of like power r, we get the following set of differential equations so we get

$$r^0: (v_0)_t = 0$$

$$(\mu_0)_t = 0$$

$$r^1: (v_1)_t - 2(v_0)_{xx} + (v_0)_x(v_0)_{xx}\mu_0 + 2(\mu_0)_x + (v_0)_x(\mu_0)_x\mu_0 - f(x, t) = 0$$

$$(\mu_1)_t - 2(v_0)_{xt} + (v_0)_x(v_0)_{xt}\mu_0 - \mu_0(\mu_0)_{xx} - g(x, t) = 0$$

$$r^2: (v_2)_t - 2(v_1)_{xx} + (v_0)_x(v_0)_{xx}\mu_1 + (v_0)_x(v_1)_{xx}\mu_0 + (v_1)_x(v_0)_{xx}\mu_0 + 2(\mu_1)_x + (v_0)_x(\mu_1)_x\mu_0 + (v_0)_x(\mu_0)_x\mu_1 + (v_1)_x(\mu_0)_x\mu_0 - f(x, t) = 0$$

$$(\mu_2)_t + 2(\mu_1)_{xt} + (v_0)_x(v_0)_{xt}\mu_1 + (v_0)_x(v_1)_{xt}\mu_0 + (v_1)_x(v_0)_{xt}\mu_0 - \mu_0(\mu_1)_{xx} - (\mu_0)_{xx}\mu_1 - g(x, t) = 0$$

$$r^3: (v_3)_t - 2(v_2)_{xx} + (v_1)_x(v_1)_{xx}\mu_1 + (v_0)_x(v_1)_{xx}\mu_2 + (v_0)_x(v_1)_{xx}\mu_1 + (v_0)_x(v_2)_{xx}\mu_0 + (v_1)_x(v_0)_{xx}\mu_1 + (v_2)_x(v_0)_{xx}\mu_0 + 2(\mu_2)_x + (v_0)_x(\mu_2)_x\mu_0 + (v_0)_x(\mu_1)_x\mu_1 + (v_0)_x(\mu_0)_x\mu_2 + (v_1)_x(\mu_1)_x\mu_0 + (v_1)_x(\mu_0)_x\mu_1 + (v_2)_x(\mu_0)_x\mu_0 - f(x, t) = 0$$

$$(\mu_3)_t + 2(v_2)_{xt} + (v_0)_x(v_0)_{xt}\mu_2 + (v_0)_x(v_1)_{xt}\mu_1 + (v_0)_x(v_2)_{xt}\mu_0 + (v_1)_x(v_0)_{xt}\mu_1 + (v_1)_x(v_1)_{xt}\mu_0 + (v_2)_x(v_0)_{xt}\mu_0 - (\mu_2)_{xx}\mu_0 - (\mu_0)_{xx}\mu_2 - (\mu_1)_{xx}\mu_1 - g(x, t) = 0$$

.....

And so on, the rest of the polynomials can be constructed in a similar manner. With the initial conditions equation (3) gives

$$v_0(x) = \frac{1}{1+x^2} \dots\dots\dots (1.18)$$

$$v_1(x, t) = \frac{1}{105(1+x^2)^6} (10t^7(x - 3x^3) + 14t^6(x + x^2 - 3x^3 + x^4) + 42t^5(x + x^2 - 3x^3 + x^4) + 35t^4(1 + x + 2x^2 - 6x^3 - 2x^4 - 8x^6 - 3x^8) + 70t^3(2x^2 - 7x^3 + 2x^4 - 6x^5 - 4x^7 - x^9) + 105t^2(1 + 5x^2 + 10x^4 + 10x^6 + 5x^8 + x^{10}) \dots\dots\dots (1.19)$$

$$\mu_0(x, t) = \frac{1}{1+x^2} \dots\dots\dots (1.20)$$

$$\mu_1(x, t) = \frac{1}{15(1+x^2)^5} (24t^5x^2 + 30t^4x^2 + 10t^3(1 + 2x^2 - 3x^4) + 30t^2(1 - 2x - 6x^3 - 3x^4 - 6x^5 - 2x^7) + 15t(1 + 4x^2 + 6x^4 + 4x^6 + x^8)) \dots\dots\dots (1.21)$$

solving in the same way, we can obtain $v_2(x, t)$, $\mu_2(x, t)$ and higher order approximations. Here, the numerical results are evaluated using $n = 2$ terms approximation of the recursive relations.

1.1.1 Question

$$\frac{d^2y}{dx^2} + y(x) = x$$

$$y(0) = \frac{dy}{dx} = 1$$

Now we solve

$$L(y) = \frac{d^2y}{dx^2}$$

$$R(y) = Y(x)$$

$$N(y) = 0$$

$$f(r) = x$$

According to HPM, we construct homotropy so,

$$v(r, p) = \Omega \times [0,1]$$

$$H(v, p) = (1 - P)[L(v) - L(y_0)] + P[L(v) + R(v) + N(v) - f(r)] =$$

$$\Rightarrow (1 - P) \left[\frac{d^2v}{dx^2} - \frac{d^2y_0}{dx^2} \right] + P \left[\frac{d^2v}{dx^2} + v(x) - x \right] = 0$$

$$\Rightarrow \frac{d^2v}{dx^2} - \frac{d^2y_0}{dx^2} - P \frac{d^2v}{dx^2} - P \frac{d^2y_0}{dx^2} + P \frac{d^2v}{dx^2} + Pv(x) - P(x) = 0$$

$$\Rightarrow \frac{d^2v}{dx^2} - \frac{d^2y_0}{dx^2} - P \frac{d^2y_0}{dx^2} + Pv(x) - P(x) = 0$$

$$\frac{d^2v}{dx^2} = \frac{d^2y_0}{dx^2} + P \frac{d^2y_0}{dx^2} - Pv(x) + P(x)$$

$$\frac{d^2v}{dx^2} = \frac{d^2y_0}{dx^2} + P(-v(x) + x - \frac{d^2y_0}{dx^2})$$

Now, we know that

$$v(x) = v_0(x) + Pv_1(x) + P^2v_2(x) + \dots$$

Use

$$v_0''(x) + Pv_1''(x) + P^2v_2''(x) + \dots = y_0'' - P(v_0(x) + Pv_1(x) + P^2v_2(x) + \dots - y_0'' - x)$$

And initial condition

$$L(v) - L(y_0) = 0$$

$$L(v) = L(y_0)$$

$$v(x) = y_0$$

$$v_0(0) + pv_1(0) + P^2v_2(0) + \dots = y_0$$

Comparing co-efficient,

$$v_0(x) = y_0''$$

$$v_1'(x) = x = v_0(x) - y_0''$$

$$v_2(x) = v(x)$$

Let

$$y_0 = y_0(0) + xy'(0)$$

$$y_0 = v_0 = 1 + x. 1 = 1 + x$$

$$v_1 = 0 + 0 + \int_0^x \int_0^x (1 + x) dx dx = \frac{x^2}{2} + \frac{x^3}{6}$$

$$v_2 = 0 + \int_0^x \int_0^x \left(\frac{x^2}{2} + \frac{x^3}{6} \right) dx dx = \frac{x^4}{24} + \frac{x^5}{120}$$

$$y(x) = \lim_{p \rightarrow \infty} (v_0 + v_1 + v_2 + \dots)$$

$$y(x) = 1 + x + \frac{x^2}{2} + \frac{x^3}{6} + \frac{x^4}{24} + \frac{x^5}{120} + \dots = 1 + x + \frac{x^2}{2!} + \frac{x^3}{3!} + \frac{x^4}{4!} + \frac{x^5}{5!} + \dots = e^x$$

1.1.2 Conclusion

In this research paper, we have applied HPM to obtain an approximation of the analytic solution of mathematically problem who arising in one dimensional nonlinear equation. We use this method who tell this equation is convergent equation. This result of HPM compare the other result or we say that the exact soltion, this result is very good result. This result is good and agreement result as compare the other result or recursive relation.

References

- [1] He, J.H. Homotopy perturbation technique, *Computer Methods in Applied Mechanics and Engineering* 1999; 178;257-262
- [2] He, J.H. Homotopy perturbation method: a new nonlinear analytical technique. *Applied Mathematics and Computation* 2003; 135;73-79
- [3] He, J.H. Homotopy perturbation method for solving boundary value problems. *Physics Letters A* 350 (2006) 87
- [4] Dehghan, M. Shakeri, F. Solution of a partial differential equation subject to temperature Overspecification by He's homotopy perturbation method, *Physica Scripta* 75 (2007) 778
- [5] Dehghan, M. Shakeri, F. Solution of an integro-differential equation arising in oscillating magnetic fields using He's homotopy perturbation method, *Progress in Electromagnetic Research, PIER*, 78, (2008) 361-376.
- [6] Dehghan, M. Shakeri, F. Use of He's homotopy perturbation method for solving a partial differential equation arising in modeling of flow in porous media, *Journal of Porous Media*, 11 (2008) 765-778.
- [7] Saadatmandi, A. Dehghan, M. Eftekhari, A. Application of He's homotopy perturbation method for non-linear system of second-order boundary value problems, *Nonlinear Analysis: Real World Applications*, 10 (2009) 1912–1922.
- [8] Yildirim, A. Solution of BVPs for Fourth-Order Integro-Differential Equations by using Homotopy Perturbation Method, *Computers & Mathematics with Applications*, 56, 3175-3180, 2008
- [9] Yildirim, A. The Homotopy Perturbation Method for Approximate Solution of the Modified KdV Equation, *Zeitschrift für Naturforschung A, A Journal of Physical Sciences*, 63a (2008) 621
- [10] Yildirim, A. Application of the Homotopy perturbation method for the Fokker-Planck equation, *Communications in Numerical Methods in Engineering*, 2008 (in press)
- [11] Achouri, T. Omrani, K. Application of the homotopy perturbation method to the modified regularized long wave equation, *Numerical Methods for Partial Differential Equations*, DOI 10.1002/num.20441 (2009) (in press)

-
- [12] Ghanmi , I. Noomen, K. Omrani, K. Exact solutions for some systems of PDE's by He's homotopy perturbation method, *Communication in Numerical Methods in Engineering* (2009)
- [13] Shakeri, F. Dehghan, M. Solution of the delay differential equations via homotopy perturbation method, *Mathematical and Computer Modelling* 48 (2008) 486
- [14] Yıldırım, A. Homotopy perturbation method for the mixed Volterra-Fredholm integral equations, *Chaos, Solitons & Fractals*, 42 (2009) 2760-2764
- [15] Koçak, H. Yıldırım, A. Numerical solution of 3D Green's function for the dynamic system of anisotropic elasticity, *Physics Letters A*, 373 (2009) 3145-3150